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(i)

J9797 4 AT T T Sea @ E

There are three sections A, B and C in the paper.

(i) QT CH yo7 GEar 1 & g 10 97T 3 IR GIT | I F 97T T 3 H & T

Gt 10 977 TGRE IFR S T & & |
Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & & 8 39 4 @ [T 6 3o & IR ST | IH J97 3 37 F1 8 T

§7H1 5 AE/50 I155] § I GIT |
Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) Q7T G & 6 391 7 8 T 4 7971 & IR AT | 5% F7 8 37 H1 & @F

)

577 15 cT737/150 F1s5) 7 3T/ Afow |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

TRl QT 3 T F9] %1 HHIR TF G &7 Bild |

Solve all the questions of a section consecutively together.

(vi) @l aTreT 7 31 51 % IR 4 37l sigar & A 8

Only English version is valid in case of difference in both the languages.

YA — T
SECTION - A
o 3 8 o a1 g ST LR AE R 7
(2) ®F ® &
© @ @
Which of the following is not a linear data structure ?

(a) Stack (b) String
(©) Queue (d) Tree

(1 0f4) P.T.O.
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(vii)
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IR AfEEE U hi srest=e Afgea | fere welite 01 7

(a) 16 (b) 14

(c) 10 (@ 4

The number of elements in the adjacency matrix of graph having 4 vertices is
(a) 16 (b) 14

(¢) 10 d 4

Fouel WIS o1 I 8 HITATRI FTR 7

(@ Of(nlogn) (b) O (log"

(© O (d) O(n?

What is the worst case complexity of Bubble sort ?

(@ O(nlogn) (b) O (log"

() O (d O@?)
% o feomegr wemfien w1 3w feRaT ST R |
(a) ATl R AR I (b) Tomer o wiidee wir
(¢) Teash Tl (d) =it
Dijkstra’s algorithm is used to solve problems.

(a)  All pair shortest path (b) Single source shortest path
(¢) Network flow (d) Sorting

Wep B fopelt wfertic 1 fgg (§eM) T o Te¥ %1 &ed &
(@ (b) @Te

(c) TG d) B

Process of removing an element from stack is called

(a) Push (b) Sort

(¢) Pop (d) Create

21T HEINH 1 15 & TH A Ta 3

@ 3¢ ()

(c) Tfeaa=di (d FTEHARETE
Data compression means to file size

(a) Increase (b) Decrease

(¢) Can’tsay (d) None of these
o= 1 ¥ I “ALGORITHM” Ht ga-f&mn g 2

(@) GORI (b) GOTI

() RIHM (d RIHT

Which of the following is substring of “ALGORITHM” ?
(a) GORI (b) GOTI

(c) RIHM (d) RIHT
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(viii) Tererep | wormfien wogut @ 1 foha 3u-T vt & fawfoma tar g ?

(@ 1 (b) 2
() 3 (d 4 .
How many sub-arrays does the quick sort algorithm divide the entire array into ?
(a) 1 b) 2
() 3 @ 4

(ix) = 8 8 BT 37 -0 T Terien TE § ?
(a) Trcewmar (b) FHEE
(c) Tores @le (d) wSae
Which of the following is not an in-place sorting algorithm ?
(a) Selection sort (b) Heap sort
(¢) Quick sort (d) Merge sort

(x) e & ouet i w3 uferiic U & wohe o ford ferifiTar 9 €, S R hEd € 7
(a) fewpm (b) feeefipem
(c) THIcASH (d) F=AHIE
If several elements are competing for the same bucket in the hash table, what is it
called ?
(a) Diffusion (b) Replication
(¢) Collision (d) Duplication (1x10)

Qe — &t
SECTION-B
2. RIS o T eI T ST W T H @1 R 7 w7
Which data structure is used to perform recursion ? Why ? 3

3. e g weien fake |
Write Binary search algorithm. (k)]

4. Tcieem afe ueniien fohe TR % HaT g ?

How selection sort algorithm works ? 3

5. ST SRR i aRTi SR |

Define data structure. 3)
6. JEARE ?
What is Tries ? A3)

P.T.O.
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12.

13.

14.

15.

219 13 3N wied 379 feme T | 7<) FaTsy |
Differentiate between Top down and bottom up design approaches.
=am i ¢ o aReriia Hi |
Define minimum spanning tree.
a3 &t o frerferfaa Wit st aftiva shIfT
(a) ¥
(b) Tafem
(c) S
Define the following parts of the Binary tree :
(a) Root
(b) Siblings
(c) Height
A —-
SECTION -C

T R T RHH fordl I aret el = T ST i weE |

Explain any four common operations performed on data structure.

o ¥ g1 31 T SR 5 R T faed |

Write algorithm for push and pop operation in stack.

ek Ti¢ Tenien o Sosiel i TATIREH S |1 T hita |

Compare quick sort algorithm with bubble sort algorithm.

renreRet G & forehl wes wemiven &t saren i |

Explain any one algorithm for topological sorting.

e 3R a1z T qehieh § ISTEWT & A1Y A< §aTsy |

Differentiate between linear and binary search technique with example.

freferiaa o wfie feoroft fofea

Write short note on the following :
(1) Flow based algorithm
(2) Data compression
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(1+1+1=3)

2+2+2+2=28)
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